Math 107

Bb Quiz Typos

Fair Division

(1.) This problem is poorly worded as it does not specify whether we are to value based on size or flavor (that is, are we supposed to account for the chocolate portion being twice the size of the strawberry or banana).
[image: image1.png]Carli and Dale want to divide fairly the chocolate-strawberry cake shown below using the divider-chooser method. The total
cost of the cake was $18.00. Carli values strawberry and banana equally, but values chocolate twice as much as either of these
put together. Dale values chocolate three times as much as he values strawberry. Further, he values strawberry twice as much
as he values banana.
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Euler Circuits

(1.) The answer should be 8.

[image: image2.png]Use the figure below to answer the following question(s).
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The number of paths from A to F is

Correct Answer: 6.




Collecting Statistics

	A farmer wishes to work out the average milk yield in his herd that consists of an equal number of Ayrshire, Friesian, Galloway, and Jersey cows.

Suppose the farmer selects 12 cows in the following fashion: The first cow to be born in January, February, March etc. is included in the sample. What type of sampling is being used? 
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Given Answer: 
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   quota sampling 

Correct Answer:
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   simple random sampling 




